YouGov Survey Results

You

Sample Size: 1728 GB Adults
Fieldwork: 10th - 11th March 2015

Westminster VI 2010 Vote Gender Age Social Grade Region
Total | Con | Lab | X |ukip| con | Lab | M® | Mate | Femate |18-24|25-30| 40-59 | 60+ | ABC1| c2DE | London | ReStof (Midlands o | scotiand
Dem Dem South Wales

Weighted Sample| 1728 | X X X X |496]1415] 343 | 838 | 890 | 206 | 437 | 591 |494] 985 | 743 221 562 370 425 150

% % %9 % % % % % % % % % % % % % % % % % %
If there is a hung Parliament with no one party having an
overall majority, the political parties would have to do a
deal to form a coalition or to get support for a minority
government. Who would you rather formed the larger part
of such a government?
Labour 41 1 94 37 18 5 79 48 | 42 39 44 45 43 33| 38 45 39 34 38 51 47
Conservatives 41 98 2 50 46|87 9 32| 45 38 30 37 40 51| 48 33 43 50 44 32 28
Don’t know 18 1 4 12 36| 8 11 20| 13 23 26 17 17 16| 14 22 17 16 18 18 25

And who would you rather Labour did a deal with to form
a government?

[This question was only asked to respondents who chose
Labour in the first question; n=732%

Liberal Democrats 25 0O 26 84 12120 21 40| 28 22 29 25 23 24| 27 22 28 25 24 25 18
Greens 23 |100 20 3 4 7 21 24| 21 25 39 23 21 17| 27 18 29 28 23 20 12
SNP 19 0o 20 2 6 |17 20 13 | 23 14 19 12 22 22| 17 21 12 12 16 16 59
UKIP 10 0 8 5 64|13 12 7 10 10 2 9 12 13| 9 11 5 13 12 11 1
Plaid Cymru 2 0 3 0 0 0 2 2 3 2 2 4 2 2 2 2 1 1 9 1 0
Democratic Unionist Party 0 0 0 0 0 0 1 0 0 0 0 0 0 1 0 0 0 0 0 1 0
Some other party 4 0 4 3 9 |12 3 4 5 3 2 4 3 6 3 4 3 4 2 5 2
Don’t know 17 0o 19 3 5131 20 11| 11 24 6 23 18 16| 14 22 22 16 14 21 8
And who would you rather the Conservatives did a deal
with to form a government?
[This question was only asked to respondents who chose
Conservatives in the first question; n=689%]
UKIP 37 32 17 2 92|43 35 20| 41 32 25 27 42 40| 34 41 32 39 38 37 19
Liberal Democrats 36 39 8 93 4 131 40 62| 38 35 49 43 34 30| 38 34 37 39 34 33 39
Greens 7 8 0 3 0 6 O 6 8 6 9 12 6 4 7 7 5 5 8 13 4
Democratic Unionist Party 2 3 9 0 0 2 0 1 3 0 6 2 2 1 2 1 2 2 3 0 3
SNP 1 1 0 0 0 1 0 1 1 1 0 1 2 1 1 1 0 1 0 0 11
Plaid Cymru 1 0 21 O 0 0 10 2 0 1 0 1 0 2 1 1 1 1 1 2 0
Some other party 2 2 19 O 2 3 5 1 2 2 0 2 1 4 1 4 2 2 4 2 3
Don’t know 14 15 26 2 2115 10 8 7 22 11 12 12 18] 15 12 22 12 11 14 20
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Fieldwork: 10th - 11th March 2015

Westminster VI 2010 Vote Gender Age Social Grade Region
Total | Con | Lab | 2 [ukip [ con [ Lab | M® | Mate | Female |18-24|25-30| 40-50| 60+ | ABC1 | C2DE | London | ReStOf [Midlands I}y i 1 scotiand
Dem Dem South | Wales

Weighted Sample| 1728 | X X 1 X X ]496]415] 343 [ 838 | 890 | 206 | 437 | 591 |494] 985 | 743 | 221 562 370 425 150

% % % % % % % % % % % % % % % % % % % % %
Thinking about what the Labour party would do in a hung
Parliament...
Do you think Ed Miliband should or should not rule out
doing a deal with the SNP in a hung parliament?
Should rule out a deal with the SNP 43 70 24 56 54|71 29 38| 49 38 34 36 43 54| 46 39 42 49 41 41 34
Should leave open the possibility of a deal with the SNP 32 11 56 26 24|11 52 38| 35 29 33 33 33 29| 31 33 33 27 27 36 49
Not sure 25 18 21 17 22|18 20 24 16 33 33 31 24 17| 23 28 25 24 32 23 17
If Labour and the SNP ended up forming a coalition
government, do you think this would make another
Scottish independence referendum in the next ten years
more or less likely, or would it not make much difference?
More likely 50 68 38 60 48| 69 40 52 56 44 42 47 49 56| 53 45 46 52 51 46 52
Less likely 7 7 10 12 6 5 10 5 7 7 11 11 6 5 8 6 9 9 5 7 4
Would not make much difference 23 13 31 16 28|15 29 23| 25 21 19 20 25 25| 20 26 23 22 19 25 29
Don’t know 20 12 21 13 18|11 21 20 12 28 28 22 21 15| 18 23 22 16 26 22 15

*Any percentages calculated on bases fewer than 50
respondents do not represent a wide enough cross-section of
the target population to be considered statistically reliable.
These figures will be italicised.
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